V -

198 +101=

V -

697+301=

V -

419 + 311 =

V -

393 + 341=

V s

V i

678 +105=

V s

339 + 984 =




Ereigniskarten Zahlenmauern

V.

160

112

4

281 | 181

141

198

902

495

91




4

R kA:A




4

4

.

4

4




V —

V —

V —

886-424 =

V —

832-400=

V —

m-619=

V —

115-428 =

V _—

991-934 =

V —

83171-929 =

V —

688-499=

V _—

1m-413 =




31+

=1000

962 +

=1000

394 +

=1000

125 +

=1000

468 +

=1000

963 +

=1000

694 +

=1000

385 +

=1000

107+

=1000

144 +

=1000




Ereigniskarten Multiplikation

V —

V —

V —

V —

V —




Ereigniskarten Division

V min

V i

V min

V i

V soiin

V aision

1000:40=

V Bision

1000:100 =




994

984

1ahlenfolge

392

402

232

282

1ahlenfolge

1)

949

345

445

881

902

Lahienfolge

195

180

219

255

Lahlenfolge

405

445

118




o

o)

410 | 390

y

o)

400 100

931

994

Lr4]

181

601

11

10

634




